
 

 

 

 :  اختار الإجابة الصحيحة:   السؤال الأول

𝑦√:     حل المعادلة + 24 + 9 =  .   يساوي 14

(a 23                         (b 53                         (c 123                        (d 623 

 ـــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ

  
2𝑛√) 3حل المعادلة : :  السؤال الثان  + 6
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 ؟  0 = 6 – (

 

 

 

 

 ـــــــــــــــــــــــــــــــــ  ــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــــ

𝑥√ = 5:   :  السؤال الثالث  − 2 −  ؟ 1
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